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Vocabulary and Grammar
46. It’s going to be a hard competition, but I’m physically and ………… prepared for it. 

1) similarly 2) silently 3) mentally 4) briefly
47. What I eat for breakfast ………. a piece of bread and a little bit of cheese only. 

1) makes up 2) insists on 3) involves in 4) consists of 
48. “Does Mary know whom …………. at the last party?”

1) do they meet 2) did they meet 3) they meet 4) they met
49. The new security system doesn’t ……….. you to enter that web page without password. 

1) permit 2) include 3) force 4) examine
50. …….. refers to a test of what you know or you can do, or the act of looking at something very carefully. 

1) Celebration 2) Examination 3) Information 4) Migration 
51. I‘ve been asked to ………… this year’s summer course, but unfortunately I can’t. 

1) advise 2) win 3) organize 4) cause
52. “When will you talk about the problems of the company?” “I don’t know when we can talk ……….. .”

1) it about 2) about it 3) them about 4) about them 
53. Psychologists believe that forgetting does not take place at an even ………… .

1) pace 2) place 3) plain 4) plan
54. Just imagine ………… in a country where it is always warm and sunny. What will you do ?

1) to live 2) be living 3) living 4) lived
55. Follow the ………… given in the user’s guide to use your cell phone properly. 

1) observations 2) instructions 3) discussions 4) explorations
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Reading Comprehension

 Perhaps most people have the experience of forgetting. They’re unaware of a simple but important fact : 
Memory can be improved. Research will show you how. 
     If you’re over worried about remembering something, you’ll forget it. And avoid being negative. If you 
keep telling your memory is bad, your mind will come to believe it and you won’t remember things. When 
you forget something, do not care very much, because it will have a negative effect on you and your 
memory. To remember more, you’ll need to take an active role. Your memory can be strengthened through 
exercise. Look for opportunities to exercise your memory. 
    For example, if you’re learning a language, try to actively remember irregular verbs. To be aware of 

things, try to make mental pictures of what you see. Don’t just put your keys down! If you want to find them 
again, make a mental picture of the place where you’re putting them. 

56. What is the best title for the passage? 
1) How to remember irregular verbs 2) Negative effect on mind
3) How to improve your memory 4) Experience of forgetting 

57. What is the important fact about memory? 
1) It should be paid no attention 2) It can be changed to better 
3) It can never be changed 4) It needs close attention

58. The word “strengthen” in the second paragraph is closest in meaning to …………. .
1) become weaker 2) make weak 3) make less powerful 4) make more powerful

59. According to the passage, one of the reasons people have problems remembering things is their ………  .
1) negative views on their memory 2) positive views on their memory 
3) experience of forgetting 4) mental pictures of what they see

60. In the second paragraph the underlined it refers to …………… .
1) not caring about what you do 2) not having enough exercise 
3) forgetting something 4) caring about forgetting something 
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